I. §f15 %
K5 (T #E 5



HE (k)

1,400,000

1,300,000

1,200,000

1,100,000

1,000,000

900,000

800,000

700,000

600,000

500,000

400,000

300,000

200,000

100,000

(B—1) SIBEHRAGHERARURRFHE - REOHR

|--§ BE(FA) ——% 2()

—

EE(FA)

140,000,000

130,000,000

120,000,000

110,000,000

100,000,000

90,000,000

80,000,000

70,000,000

60,000,000

50,000,000

40,000,000

30,000,000

20,000,000

10,000,000



(B—2) 5SyFE(FHMTE~THSE)EZBRANBFSDHRS

[ =%= () 25 (TA) |

BE() R . £ (FA)
120,000 hEEREIRR 4,000,000 #E (k) INEY G EHE(TFA)
] 150 80,000
100,000 1 I 1 70,000
80,000 | 1 3,500,000 00 | 1 60000
— I + 50,000
60000 T + 40,000
40,000 1 4 3,000,000 50 | 1 30,000
20000 | i + 20,000
1 * I—I + 10,000
0 2,500,000 0 I 0
RT Rz RS R4 RS RT R2 R3 R4 RS
- 1 B N AEEZIRE
wE(e)  ATEFERRR SH(FA) wEGe) O VERERRR SH(FA)
180,000 r 12,000,000 30,000 3,000,000
160,000 B — 1 0 1
140,000 | - n f 4 10,000,000 25,000 + T 2,500,000
120,000 1 [] 1 £.000.000 20,000 1 1 2,000,000
100,000 + | 15,000 | 1 1500000
80000 1 P + 6,000,000 ' 1
60,000 | L4 | 10,000 + 4 1,000,000
[ / L 4
40,000 | Lo 1
20,000 + T 4,000,000 5,000 1 1 500,000
o4 2,000,000 0 '_"\*'T oo 1 g
Rt R2 R3 R4 RS R/t R2 R3 R4 RS
; BERE-ZOM
[N 241, o =] N
HE () LAY iRE 2% (FA) BE () K £%(FA)
4,000 - 1,200,000 15,000 2,500,000
1 T 1,100,000 ]
8500 T 1,000,000 1 2,000,000
3,000 1 1 900,000 10,000 |
1 1 800,000 000 + 1
2,500 1 700000 1,500,000
2,000 | T 600,000
1 1 500,000 + 1,000,000
1,500 1 200000 5,000 1
1,000 + T 300,000 1 500000
1 + 200,000 I | '
500 A 1 100,000 H |_| |_|
0 i E N Lo 0 0
R R2 R3 R4 RS Rt Rz RS R4 RS



(B—38) SyE(FHTE~THSE)BERRKBEDEMK (%)
RS CHEERRBRR
o | w BB
: " K RIFSBAE
) SAEHTRAE
R2 DY R
= | BT O
E T T T T ! T ! T ! T ! =/
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
95 () | TREE | NLER| ARL | ZAZE | UhEY | AERE|
P20 | e | mx | dxem eees| s | zo
oot | 143w oou| saaw|  oo0%|  oo%  1.3%
THAE ] 207  oou|  77.9%  00%|  oo0%|  1.4%
oHSE | 248% 00w 735% 0% 00%|  1.6%
et | 2asu|  oou| 736w 04%| 0% 1.7%
PRLE | 226x]  oou| 7308  10%|  oo0%| < 3.4%
(B—4)  5r&(SHTE~HHSE) REARELBOHH (%)
s - HAERERE
- m BB
Ra | EPNGECES 2P ES
R3 SAFHZRAR
. = LAY
: R T O
.
E T T : T * T * T * /I =/
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
om0 | TAEE [ MLER]| ATH | SAE | VAR | AR
i mak | mx |seme | meEs| smx | -rofm
e | 234%  o02x[  705% 024  00%|  5.7%
e | 348%| 04| 575%  02%  00%  7.1%
em | 363%|  0.3% 5484  06%  00%  8.0%
TReT | 393%|  03% 507%[  08% < 14%  7.5%
e | 404%| 04w ad46%|  38%  02%  10.6%

KNI R U TE2MI LN T 2SR AL TRk




(H—5) 54 F (FHITE~THSE) HioT - 41 F A ERIF D& R (%)

HE(F)
HFI5H(189) | | | 155
HFAE173) ‘ ‘ ‘ ‘128 ‘ ‘ ‘
HFN3EE(204) ‘ ‘ ‘ 16‘7 ‘ ‘ ‘
HF24(192) ‘ ‘ ‘ 15‘7 ‘ ‘ ‘
SFTTE1T2) ‘ ‘ ‘ 1‘33 ‘ ‘ ‘

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

£ (EM) mihyr 044k

HH5E(143) 103

S H44(105) 72 ‘ ‘ ‘
STN3E(89) ‘ 49 ‘ ‘
HH24(82) ‘ 3‘3 ‘
ST @BI) ‘ ‘31 ‘

10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

0%

KBTEERES) [ amx onx]

SF5E@4) | 13

S FN44E(40) ‘13 ‘
STN34(45) ‘ 12 ‘
SM24A47) ‘ 14 ‘
FFITEGI) 15

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

#E (%) hx Nk |EEE(%)| T Nk | EH(%)| T U
SH55E 18.0% 82.0%] SH5%F 28.0% 72.0%) 555 68.3% 31.7%
SH4E 26.0% 74.0%) SH45E 31.4% 68.6%] SH4E 67.5% 32.5%
SH3F 18.1% 81.9%] SH3%F 44.9% 55.1%] SH3%F 73.3% 26.7%
T2 18.2% 81.8%| HHI2E 59.8% 40.2%| HHI2E 70.2% 29.8%
THITE 22.7% 77.3%] THITTE 62.7% 37.3%| THITTLEF 71.7% 28.3%
XN R LT E2MI U TZMmE A AL Tk




(M—6) HMSFEEEMRE M-S EAERFZ DB (%)

#E (k)

miht 044k

RpBFEHEBE

INBUEEAE R 5

SAFEEZREE

LBV s

159,798
| | |
31
| | |
67
| | |
1

RFRRE-TOM

779

0%

10% 20% 30% 40% 50% 60% 70% 80% 90%

100%
= (%) ot | 4 E £ %8 (%) it | HE

PEERMRE 91.0% 8.5% HPEERMRE 91.8% 8.2%
INBU R 13.9%  86.1% INE e e 2 7.2%  92.8%
RApBIFE=HMAEE]  0.0%  100.0% RApRIFE=HMAESE|]  0.0% 100.0%
SAFHEZHEEE]  0.0% 100.0% SAFEZHEE 0.0%| 100.0%
RYAF I Dh:ES 0.0%| 100.0% LWABIYEE 0.0% 100.0%
BEBRE-FDM | 684%  31.6% BERE-FOM [ 85.3% 14.7%

KN RUTE2UTEmRER AL TRHE

(B—7) SHSEXFERX HiT- SRR ERDIER (%)

€% (FH) miist o4tk
RpEIFEH A% 10,103,900
F \ \ \ \ \ \ \ \
INBY i e 2 27,709
SAEBEZHRIGRE 27,087
\ \ \ \ \ \ \ \
RVAYSDP:E S 284
MERRE-TOI 690,18 118,852

0%

10%

20% 30% 40% 50%

60%  70%

80%

90% 100%

_9_




(K —8) FHISFiRFE A MBHMERAEIS (%)

NAEIY ZTDHDEE
I E i A
0.0%
SAEHEDESE ARE R
0.0% ’
RKpBIFEEHAE
84.4%
m KpRIFEFREEE HMEERMAZE " SAFEZHRXE
m /USSR CRAVAY ST S " ZDMDAZE
REA #H=>) BESA +£%(FH)
ApRFEMAE| 159,798 RepRFEEHAEZE| 10,103,900
HEERMAX 27,049 HFEERMAZE[ 3,352,964
SATEZHREE 67 SAFEEZHRAEE 27,087
N B 6 48 X 36 N B g AR 29,872
WHAEY B E WA Y B X 284
T DM DEE 2,466 AOR oW 809,041
i 189,416 &t 14,323,148
(B —9) M5 FERERNDIKELEEHEE (%)
ZOMDHE
5.7%
WHEIY i
0.0%
INBU et
0.2% HEERMRE
SAFHZHRE 23.4%
0.2%
KpBIFEEHAE
70.5%
m K RIFEFMEEE HEERMEE B IAFHEZRERE
m /USSR CRRVAY SIS B ZDMDIEE

MR TE2 LU TZRIERALTEEH

_10_



(B —10) S5 F AR MK EBES (%)

LhL
84.7%

FIFESED
.6%

FE5
2.9%
SAE
0.0%
ZDfth "
2.9% M
. 0.5%
EF-1+ él;i
00% &i-Fg_/LLos | L L 00%
0.0% 0.0% 0.0%  0.4%
= lvbL FIFESEDS mEED n SAFE sANNE e &
CERY: n =Y LL»% B&FFT m(Iolf FDith
#E () +£% (FH)
W 4 L] 160479 L 4 L] 10,105,042
FITESEDL 16,226 F+ES5ES] 1,051,083
xF £ 5 5,454 *x = 5| 1355777
= A F 66 = A F 27,063
N Ly £ 871 7= Y] 145,134
= [ES 0 N o Ly $8 159,809
Ly H 668 L L » % 78,156
7= L 77 LY AN 671,669
L L » % 29 = [ES 12
S -F T 36 S -F T 29,872
xF - It 14 xF - It 3,699
F O 5,496 F O 695,882
=) 5 189,416 a st | 14,323,148
(B 1) SHSFERBARRE BRI %)
70.6% ERVE<) il
7.3%
FEL x4z
D]
1.0%
PN
1.1%
LLet
0.5%
Tt 3ot St ag Z\;ﬂ/‘
4.9% 0.0% 02%  0.0% 7
mlvbL B FIFESEDS mEEDS " SAE =Y u AU
Ll LAY =& BZF-FET  m(Eolt ZDith

,11,

MR UTE2HILTEMIEEALTEEH




(B—12) S54F(FHMRE~THSE) TELAFNFHEMDOHER

(M)
140
120
100
80
60
40
20

(M)

70

60

50

40

30
20

(M)

1,000
900
800
700
600
500
400
300
200
100

FEERMAER

_a124

i

86 o

69 63

R2 R3 R4 R5

KRB FERAR

63

30

L 3

R2 R3 R4 R5

LAY

0
R2 R3 R4 R5

,12,

(M)
1,200
1,000

800

600

400

200

(M)
700
600
500
400
300
200
100

(M)

350
300
250
200
150
100

50

INEY kil it %
1,004
&S
830
»
.,m/ \532
v 589
RIT R2 R3 R4 R5
SAFHEZEAE
664

A\

481/ \

B N

/' 404

189
¥

RIT R2 R3 R4 R5

E

i

MFRRR-ZTOM

M//;ﬁ
153
R7T R2 R3 R4 R5




(B—13) S545F(FHTFE~FHSE) ARERES DL

HE ()

70,000

60,000

50,000

40,000

30,000

20,000

10,000 ,
= =4
0 ] | T
1A 2A 3R 4HA ©S5A ©6R 7H B8R 9HA 10R 11H
=== T TTE —m— T2 —e— FHM3EF
e HHAE  —e—BHSE

E#E(FA)

6,000,000

5,000,000

4,000,000

3,000,000

2,000,000

1,000,000

0

‘A

1A 2R B8A 4R 5A 6RA 7R 8A 9RA 10A 11A

_13_



_17‘[_

(B—14)THSE HEAKEDRIERLE

Bfr(hy, M)

X 4 HHSE SH4AE R F 54 8 (F3/0)

M= Gt ] M= £%8 M= £%8 54F 4%
1 EERMAE 27,049 | 3,352,964 35,664 3,663,511 A 8615 A 310,547 124 103
2 INBUERRE A 36 29,872 76 44,780 A 40| A 14,908 830 589
SIRPBEFEEMEE 159,798 | 10,103,900 134412 | 6,056,242 25386 4,047,658 63 45
4 SAFHEZRBEE 67 27,087 25 16,598 42 10,489 404 664
5 L\hEIYiESE 0 284 0 164 0 120 0 0
6| SITEEMAR 1 40 2 445 A1 A 405 40 223
T ZAUHTHERZE 294 85,846 206 73,859 88 11,987 292 359
8 =R EE 439 179,982 538 107,791 A 99 72,191 410 200
9|9 TSR R E 0 0 21 1,150 A 21 A 1,150 0 55
10 ML VRIS SR 259 77,380 278 70,369 A 19 7,011 299 253
11 BRI 83E 0 128 18 1,830 A 18 A 1,702 0 102
12| M Tia%E 13 111,702 14 93,877 A 17,825 8,592 6,706
13 DA iRE 336 66,977 226 66,159 110 818 199 293
14 LLob M@ E 95 81,475 131 181,969 A 36/ A 100,494 858 1,389
15 HLVEsH M TiaE 0 27 0 0 0 27 0 0
16 ZMDthiRa %k 1,029 205,484 943 158,363 86 47,121 200 168
a8 Hi 189,416/ 14,323,148 172,554/ 10,537,107 16,862| 3,786,041 76 61




(M—15) TFHM5F £2EXTZEBKGITRKE(EHE)

(k)
300,000 [

250,000 |

200,000 |

150,000 |

100000 |

50,000 |

o |
# g B H# £ A # &

5 # # #® N #£ % B X F = F
zi’§?;#éﬁ%zﬁﬁ%lﬁﬁ??ﬁg/lléﬁﬁﬁﬂﬁEr
SHS5E ZEFEBRKEITHEHSE (M) SHSE 2EFEEREKEGITEE(TR)
1 8 B&|] 189416 ] 113 MR| 58379 18 2| 49570425 | 11]# @] 18,070,767
2 [8k F| 188965124 = 45509 2 |18 R| 48441273 |12|# M| 16,093,952
3| & 120109 13[/\ F&| 37606 3|E &| 33,617,158 | 13[4l RB&| 14,323,148
4 |1 2| 112568 | 14 [{EtH{E] 34,905 4|8k F| 27281035| 14| PBH| 13,942,588
5 [ 5| 109878 |15]|%& JIl| 29,236 5 (& 3| 245325851516 2| 11,400,823
6 |5 & 98,184 | 16 [BE  ;E| 29,158 6 |SlU;B| 23325455 | 16[/\ F| 10,932,096
71 A 92,439 | 17 [KMmE[ 24513 71H/  &| 21440898 |17[;B E| 8,236,114
8 [#L 1% 69,157 | 18[ T Ed| 21,003 8|= & 18,902,000 | 18 |[{AtH{E] 8,202,543
9 |54lA 65,005 | 19[= 15| 17,144 o [#t | 18,664,582 |19[% JIl] 7,836,666
10(8 R[ 62319]20|= | 17,082 10|48 2| 18,603,838 | 20 [#rMsid| 7.670,595

(B—16) THM5F 2EXEBKEITIKE (£

(FMD

50,000,000

40,000,000

30,000,000

20,000,000

10,000,000

% # £ # B = AH# = &£ #® # # H F & /N F £ % i
E oH & F OE W E & & F A B B F F E # I B
E 3 E

,15,




